10.1 Square Root Functions
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Examples

Graph each function and compare to the parent function. Also state the domain and
range.
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Examples — Real World

The speed s of a tsunami, in meters per second is given by s = 3.1v/d, where d is
the depth of the ocean water in meters. Graph the function. If a tsunami is

traveling in water 26 meters deep, what is its speed? 4«
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The perimeter of s square is given by the function P = 4v/4, where A is the area of

the square. A . (}“
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b) Determine the perimeter of a square with sl
an area of 225 square meters. 4t g
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¢) When will the perimeter and the arca be the same value?
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10.2 Simplifying Radical Expressions

Explore
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Summarize:
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Simplify the following exactly. (Answers should noﬁt'"B'e"'aecimalsj
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You can also simplify variables under the square root! \r)g%‘ = ( A / B
Original Simplified Original Simplified
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Examples

Simplify each expression.
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10.3 Operations with Radical Expressions

You can add or subtract radical expressions similar to how you add or subtract like
terms.

Examples
a) 6V5+ 25 —5v5 Sl

b) 9v11 + 3v11 — 5v11
O TVZ+BVIT—4vIT—-6vZ  —| J3 « Ud)

d) 2v/18 + 2v32 + V72
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e) 6327 + 8v12 + 2v75
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You can also multiply radicands.
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Example
Simplify each expression.
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Example

Find the area of a rectangle in simplest form with a width of 4\/_ 2410 and a
length of 5v3 + 7+/5.
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You can also solve equations with radicals.
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Solvex —3 =+vx —1

Example — Real World

An object is dropped from an unknown height and reaches the ground in 5 seconds

Use the equation t = % where t is time in seconds and h is height in feet to ﬁnd the
height from which the object was dropped.



10.5 The Pythagorean Theorem

\ \/\ lp‘dﬁp \?,{J ] TQ“’_\ % %@_ki
| !US’)*%’( AN i”l ONG

. J

L
b
a? + b2 =gz
Tenoke,
{\}\ O 1\ 3
\@&3 up
Examples

Find the lengths of the missing sides.




Example — Real World

The diagonal of a television screen is 32 inches. The width of the screen is 21
inches. Find the height of the screen.

o Pythagorean Triple — 3 (/O\\Oi@ N ij{"("‘a,‘if{}‘.?j' b

AT ITUY VRRSUY , S L ey
N oS of elnaay

.. #
e

Examples
Determine if the following measures can be the lengths of a right triangle.

> M

} ‘s 1y
il « i1 8@
Ix 1w - ; { L-; "_,.-‘ -

b) 30, 40, 50

- 7 t O

c) 6,12,18 7/ h [&
r 2 § ‘\j
‘ - - i~
;”” i 7 )



10.6 Trigonometric Ratios

Think about how you would solve the following triangle
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Find the values of the three trigonometric ratios for angle B.
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Use the triangle below to find the values of the three trigonometric ratios for angle
A.
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You can also use your rules of Algebra to solve for missing sides of right triangles!

Steps:
1) Look at how what you have relates to the angle. “1 /' ©0 RACNE
2) Decide which trig ratio to use 10} '

3) Set up the ratio

4) Solve the equation
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Day.2 — Solving for Angles

You can also solve for angles in right triangles!
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Examples

Solve for the missing angles.
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Examples
Solve the right triangle. Round each side to the nearest tenth.
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Example

CONVEYOR BELTS A conveyor belt moves
recycled materials from Station A to Station B. The
angle the conveyor belt makes with the floor of the
first station is 15°. The conveyor belt is 18 feet long.

What is the approximate height of the floor of .
Station B relative to Station A? n -
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